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1 KB (°C) T
et 1 BB A& (H26.11.6)
AEiwm | wav( | Bor | ax | #50 [PRERleswen| Lo JoEC0Z| T
Inin =) /s ‘9"! _!
Om 21.2 21.7 215 22.0 20.0 216 225 A09 20.2
2m 21.2 21.7 215 220 20.1 21.6 225 A 09 20.7
5m 21.2 21.7 21.6 22.0 21.2 21.6 225 A 09 21.2
10m 21.2 21.7 216 21.9 21.1 21.6 225 A 09 -
B-1m 21.2 21.6 21.7 21.9 20.9 21.6 22.5 A 09 21.1
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Om 33.7 33.9 33.8 339 32.9 338 33.2 0.6 32.7
2m 33.7 33.9 33.8 33.9 33.0 338 33.2 0.6 33.1
5m 33.7 33.9 33.9 33.9 335 338 33.2 0.6 336
10m 33.7 33.9 33.9 33.9 33.7 338 33.3 05 -
B-1m 33.7 33.9 33.9 33.9 33.6 33.9 33.3 0.6 33.7
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Om 6.7 6.8 6.8 6.2 75 6.6 6.0 0.6 71
2m 6.6 6.8 6.8 6.0 75 6.5 5.9 0.6 7.1
5m 6.6 6.7 6.7 6.2 7.2 6.5 5.8 0.7 6.9
10m 6.5 6.5 6.7 6.4 6.9 6.5 5.9 0.6 -
B-1m 6.5 6.1 6.6 6.5 6.5 6.4] 5.9 0.6 6.7
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K 17.6 25.3 17.9 14.8 15.3 10.8
FEHRE 11.8 13.8 13.8 13.5 9.2 6.8
i1 2135 BR 4.0 3.9 5.3 25 25 25
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Om 34 0 5 600
ERIA 2m 25 0 2 0
5m 26 0 2 200
Om 3 2 2 10
EDE 2m 3 0 2 10
5m 2 0 0 0
Om 1 0 1 0
Bk 2m 2 0 0 0
5m 1 0 0 20
Om 1 0 0 0
H39 2m 0 0 0 100
5m 2 0 1 50
N Om 2 0 1 20
’i’&m%ﬁim 2m 1 0 1 50
5m 9 0 1 0
Om 1 0 1 20
Liek: 1:L] 2m 2 0 0 0
5m 1 0 0 20




